As required by Florida Statute 553.842 and Florida Administrative Code 9B-72, please provide the information and approval numbers on the building
components listed below if they will be utilized on the construction project for which you are applying for a building permit. We recommend you
contact your local product supplier should you not know the product approval number for any of the applicable listed products. Statewide approved
products are listed online @ www.floridabuilding.org

Category/Subcategory Manufacturer Product Description Approval Number(s)

1. EXTERIOR DOORS

A. SWINGING Parksite Swinging Entry Door 20461.1

B. SLIDING

C. SECTIONAL/ROLL UP

D. OTHER

2. WINDOWS

A. SINGLE/DOUBLE HUNG

B. HORIZONTAL SLIDER

C. CASEMENT

D. FIXED

E. MULLION

F. SKYLIGHTS

G. OTHER

3. PANEL WALL

A. SIDING

B. SOFFITS

C. STOREFRONTS

D. GLASS BLOCK

E. OTHER

4. ROOFING PRODUCTS

A. ASPHALT SHINGLES

B. NON-STRUCTURAL METAL

C. ROOFING TILES

D. SINGLE PLY ROOF

E. OTHER

5. STRUCTURAL COMPONENTS

A. WOOD CONNECTORS

B. WOOD ANCHORS

C. TRUSS PLATES

D. INSULATION FORMS

E. LINTELS

F. OTHERS

6. NEW EXTERIOR

ENVELOPE PRODUCTS

The products listed below did not demonstrate product approval at plan review. | understand that at the time of inspection of these products, the following
information must be available to the inspector on the jobsite; 1) copy of the product approval, 2) performance characteristics which the product was tested and
certified to comply with, 3) copy of the applicable manufacturers installation requirements.

Furtheg, Lunderstand these products may have to be removed if approval cannot be demonstrated during inspection.

12/3/2024
Date NOTES:




-
=
=

[

4

'

V'

L

’

/&4?> @ <
@ %t
% @ =
0, ® @9
@ @ 7;;(37
[-D\MD“I { DA | R |
CONTRACT # cusToMER: _QDOMVAN, AsHigy! # OF STORIES_/ _
[Ext. Construction Type: BRick /ﬁ’ LOCK GRIDS
#| SERIES | MODEL | INT|EXT| WIDTH HEIGHT | LEG| Mull [TEmMP| OBS| STYLE | PATT. | ORIEL | sc
|| Y00 OS TRTE 36,75 | :
A €400 | DS 73,75 36.75 _
3| 77200 oy 35,75 3£.75
4 9200 | 24 J7.75 3€,.75 X | ¥
1517200 | OH % ok 385 b4 14
6| €400 | p< 22,75 36,75
7| €400 | D< 3 37
gl 7700 | O} 3<.7s | | 34,78 i S
9l Y200 | OH 2€.9¢| | 5¢i7g 2 |
! 2700 | DH 35,75 34,75 /\D/
" 200 | oH 35,75 " 2d. 2
R} €400 | D 47, s0 3s, SO
13l Door. | Anis {sod0 | 39 || g1 pibcleot
M Door | LHIS | soup 39 &3 B“‘?”JLI&L




FLORIDA DEFARTMENT OF

Business & Professional Regulation

+ OFFICE OF THE
SECRETARY

Search Criteria

BCIS Home | Log In | User Registration | Hot Topics | Submit Surcharge Stats & Facts Publications | Contact Us | BCIS Site Map

Links | Search |

Refine Search

Code Version 2023 FL# 20461.1
Application Type ALL Product Manufacturer ALL
Category ALL Subcategory ALL
Application Status ALL Compliance Method ALL
Quality Assurance Entity ALL Quality Assurance Entity Contract Expired ALL
Product Model, Number or Name ALL Product Description ALL
Approved for use in HVHZ ALL Approved for use outside HVHZ ALL
Impact Resistant ALL Design Pressure ALL

Other ALL
Search Results - Applications

FL# Type Manufacturer Validated By | Status
FL20461- |Revision | Therma-Tru Corporation Ryan J. King, |Approved
R9 FL#: FL20461.1 P.E.

History, Model: a. Therma-_Tru Fiber-Classic and Smooth-Star ) ) (813) 767-

Description: Nominal 6'8 "Non-Impact" Opaque Composite Edge Fiberglass 6555

Single Door (Inswing/Outswing; X configuration)
Category: Exterior Doors
Subcategory: Swinging Exterior Door Assemblies

*Approved by DBPR. Approvals by DBPR shall be reviewed and ratified by the POC and/or the Commission if necessary.

The State of Florida is an AA/EEO employer. Copyright 2007-2013 State of Florida.

Contact Us :: 2601 Blair Stone Road, Tallahassee FL 32399 Phone: 850-487-1824

:: Privacy Statement :: Accessibility Statement :: Refund Statement

Under Florida law, email addresses are public records. If you do not want your e-mail address released in response to a public-records request, do not send electronic
mail to this entity. Instead, contact the office by phone or by traditional mail. If you have any questions, please contact 850.487.1395. *Pursuant to Section
455.275(1), Florida Statutes, effective October 1, 2012, licensees licensed under Chapter 455, F.S. must provide the Department with an email address if they have
one. The emails provided may be used for official communication with the licensee. However email addresses are public record. If you do not wish to supply a
personal address, please provide the Department with an email address which can be made available to the public. To determine if you are a licensee under Chapter

455, F.S., please click here .
Product Approval Accepts:

1 o0 = o &
b s

Credit Card
Safe



Z:\2023 FBC Drawings\Therma-Tru\ThermaTru FL 20461\FL-20461.1-5.dwg

THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

COMPOSITE EDGE
OPAQUE FIBERGLASS SINGLE DOOR

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 8th Edition (2023)
Florida Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

Fiber-Classic & Smooth-Star Door panels require the use of "J" part
numbers and must be stained or painted within six months of installation.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Elevations

Horizontal & Vertical Cross Sections (2X Buck)
Horizontal & Vertical Cross Sections (1X Buck)
Horizontal & Vertical Cross Sections (Direct fo Masonry)
Vertical Cross Sections (Thresholds)

Buck & Frame Anchoring

Hardware Details

Components

Components & Bill of Materials

o|oo[~for[on|afeofro

Zla

Wt g,

\) /,
S s S M,
? M \JCENSg /" 7, Digitally signed by Lyndon F Schmidt
i S V4 2‘, 2
5 « = Date: 2023.07.19 15:05:08 -04'00'
= 7 No.4n09 ., =
*i * 3 9 [This item has been digitally signed and sealed by
_:'ﬂ kS J 55 L. F. Schmidt, P.E. on the date adjacent to the seal.
276' STATE OF -'#,5 Printed copies of this document are not
’/,"z\ FLORIOR. " S | considered signed and sealed and the signature
) ";s:‘,?lONA.L E‘ \\\\\\ must be verified on any electronic copies.
i THIS PRODUCT APPROVAL IS VALID
ONLY FOR THE STATE OF FLORIDA
37.75' MAX O.A.
f— ]
FRAME WIDTH
g 2
<5 <&
g o
c: 38
T <= (]
<O =T
2T i % (0]
s O X
> ® “2"
&( ( H j]
[ &
[
DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
Lock INSWING OUTSWING
CONFIGURATION HARDWARE
POSITIVE NEGATIVE POSITIVE NEGATIVE
X Latch & Deadbolt|  +70.0 -75.0 +67.0 -67.0
X Mulfipoint +80.0 -80.0 +80.0 -80.0

See Sheet 3 for Hardware Specifications

0
@
>
.0
G
z
FANTS
b om
G .o
£goB
2£3
ngd
2 y Z
255
g
. GR®E
@ oN - u
o 3 o x2 8
g zo
LEe 28,
g5 a%ey
£ 3% Z2g9oa
c 2% 5092
¥ Boal
€ _o
§c2 S
5
é‘éu @
S 2o
n
S
So
=
2
S oz
58 N4
xa Zu
= S=
To |y =8
=8 |ys°
P e
Lo |2 2
& wl w
=l
g [43s
= o 93
S ol Tk
8l |g"E
© < o
& &
D10 x|x|>
5|52 55
Rlofw
DR [
o|m(5| |@
’\ngzl.g
NeEEN
NS
SHRNS
NN )
S| IFlel B
ol vl v Y e
Yo 0
ERREERS
®|REEE @
(4
R|R|&|g|®
s}
SRS
J|S5[> (8|S
Qo |w|wia
SEIEEEE
2SR |
RN
RISINNES
NRISISINP
w|<{m|e|-|2

oATE: 5/26/16

scae:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-20461.1

SHEET _1 oF 11

2016 R.W. BUILDING CONSULTANTS INC.

o



Z:\2023 FBC Drawings\Therma-Tru\ThermaTru FL 20461\FL-20461.1-5.dwg

EXTERIOR 1198 EXTERIOR 1.198"
. q 05" . 1.875" :l 0.406'
| f=—1.875" =~ T* 198 ‘ ‘ 1‘* »T r
m : T ATV T
M M um T
W , m}i}H“H‘}Hw““‘\w}ﬂ comroste 5 “:1};11}3;W;}i};\wm‘
M . I M\H ‘\‘WH“ I n ‘1}\”}\}1\‘}‘\‘\”}““ 1 I COMPOSITE
Il LA \ i cap
1 1 f
COMPOSTE  NGE STILE IMERIOR PRy ENGINEERED WOOD composie HINGESTLE INTERIOR et RED
CAP  (ENGINEERED WOOD) nzsionewy J AP [ENGINEERED WOOD) (125 LONGWOOD] - [FGNEERED 1O0D!
HORIZONTAL CROSS SECTION E E ; HORIZONTAL CROSS SECTION
TOP RAIL
(COMPOSITE/ENGINEERED
36.0" MAX. 35.813' MAX. 35.813' MAX.
f~——  DOOR ——f f=—— DOOR ——tf f~—— DOOR ——f
PANEL WIDTH PANEL WIDTH PANEL WIDTH
<>
| | | < = |
FOAM CORE
. (POLYURETHANE - .
— [ [ i 1.9 PCF MIN.) :
o>/ OO0~ @EO- &/End - Lt "
! ! ! INTERIOR EXTERIOR INTERIOR EXTERIOR
[ ] ] . [ ] ] .5 ] ] - n T
2 5 2 53 5 /i T
z z z f
< < < -
& ° l & l = l o FIBERGLASS SKIN &
o — — o — — o — — P (0.073"THK.) S
o = = o] = = o] = =
a (O) a (©] a
2 X R X T oz X ¥
= S k= < N = Y k== ;
S o B - BOTTOM RAIL i
¢ @ & [I—— (comP) B
(3 \ VERTICAL CROSS SECTION /4 VERTICAL CROSS SECTION
> > b
. DOOR PANEL . OOR PANEL @ DOOR PANEL
BOOK lybrid Door U1 Door

0
@
0
.|
)
z
Z .
. Lom
G .o
428
Lo
29,
S3eg
2 y Z
PN
g
5 om®%
@ o -2
* o)
3 2 o x23
2 En z 9 ['3
5 Zo,
20 0o w
£9% Z2gsd
T 9% 5Q2g
L ¥ Moo
2w
H o]
§ 2
4
6 sul
S 2
12
=
o =<
=
9 [}
S
=] 8
| -
=2 |5 @
=2 |zl =
S |9 x
wo o &«
Iz |o
=5 |9 «
@ (<8
5l & [« 8
3 S
S &
4 <
o &
I
SIS 5[5 (%)
Qlo|w
O O
2al5| |@
h*Z w
R
NIEIEEIN
SINIQIE(S
NS
RSE (v
Slal - [Fal B
wlalgl a2
i %]
SRS
oRIEFS| [T
(4
EE%BE
1| w| QB w
R
[a][=} olg
nmﬁuu
S|D|x[x(D
2RISR |
NN L]
RNSRNE
NNRIERP
-lo
o+ [m|a|~|Q
ONE: 5/26/16
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.
FL—20461.1

SHEET _2 oF 11

2016 R.W. BuiLDING CoNsULTANTS ING.

o)



Z:\2023 FBC Drawings\Therma-Tru\ThermaTru FL 20461\FL-20461.1-5.dwg

==

=

=

©40

e \\\Pi
SEE HARDWARE

CHART

HARDWARE TABLE

KNOB:  F51
SCHIAGE | peapsoLr: Bso

KNOB:  SIGNATURE SERIES
KWIKSET | DEADBOLT:  SIGNATURE SERIES (980)
HOPPE | MULTIPOINT: MPDGART

(THERMA-TRU)

(3 pt. Manual Tongue)

El

=
[ I

[l

[ I

]

L]

Fiber-Classic /Smooth-Star Door Panel Options

Products approved include all embossed and recessed panel doors.
Similar glazed panel configurations are allowed.
Panels shown are for illustration and are representative only.

0
@
B
. ™
6™
z
FANG
. amn
G .o
Edan
z£28
SEd .
S350
2 v Z
9.3
S
5 om®s
2y Od @
v 3 o x2 8
e Z8,%
a £9 o b
§69 9 .cw
§Fom 502%
E Y9 598§
. ool
c g
§ c3 g
S
g‘ém @%
S 2o
S
>
(%]
o
w .
=u |5 =
=< |I= <
T3 =
&o |13 ©
IE |5 o
Sy 17
S <
s |
S <]
a
IS] =
4 <
& &
ool
EREEEE
Q L
IS IS
R EILS
N
Blalo|z
N O|Z[ON
SISIS|E(s
ISRl
NN
NS5[ o
I~ 3 Z|
e [ 1 1
w V)
HEREERS
SIS
4
QR|8|a|®
S
SEE S
Z[55[4[5
llaul
S[O|x[x|D
NEENS
RN N
SRR
NN NN
NNSENE
—[g]
Lolhdlel >

oATE: 5/26/16

SCALE:  N.T.S.

bw. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20461.1

SHEET _3 oF 11

© 2016 R.W. BUILDING CONSULTANTS INC.



Z:\2023 FBC Drawings\Therma-Tru\ThermaTru FL 20461\FL-20461.1-5.dwg

EXTERIOR

INTERIOR

/ 1"\ VERTICAL CROSS SECTION

]
B
3
a L
o 0.15" C-SINK
*H* TvP)
TN
1
).
4
S s
R
INTERIOR
| S
EXTERIOR
® X G

1-1/4" MIN,
EMB. (TYP.)

@ 40 ) 41)42

/ 2"\ HORIZONTAL CROSS SECTION
4 ] Shown w/ 2X Buck
QOutswing shown (Inswing similar)

Shown w/ 2X Buck

Outswing shown (Inswing similar)

Za

2z

Yo

T =

T2
115" MIN.
EMB. (TYP)

<
N
el
0.15" C-SINK
[mvp) {*
[
INTERIOR
&

1-174" MIN,
EMB. (TYP.)

EXTERIOR / / é
. HORIZONTAL CROSS SECTION
Shown w/ 2X Buck
Outswing shown (Inswing similar)

0
@
0
"
"
Z N
om
G .ev
Egom
Lo
gto .
550y
3> 452
255z
S o
[ om s
& ISRV
B o o
3 2 0x5zg2
§Eo0 Z8,%
$§69 9 .cuw
9% 2558
e P >502g
. Dol
S o]
I
g su
S 2o
<
=3
om
o« =
>
>8 W
23 SN
] . 1%}
< >°HZ
32 (g 22
x g ==
9o |u 59
Ix o §
oo mNU}
2 |4 By
5 © (g 53
> ol £
a x
gl °
o &
0
SR

REVISIONS

7/19/23 [UPDATE TO 8TH ED. (2023) FBC |LFS

7/7/17 |UPDATE TO 6th ED (2017) FBC

O
S
£ig
S\z|&
SI5|2
SIE[=
NI
I =
[~
Lo
HEE
V\ll
S
w|S&
=(9|%
S||8
Q |Cujw
D|ejac
NEN
2Rs
N
NN
NRI=

NO.| DATE

0|« |||~

OATE: 5/26/16

SCAE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO..
FL—20461.1

2016 R.W. BUILDING CONSULTANTS ING.

SHEET 4 oF 171




‘ONI SINVIINSNOD SNIGTINE “MM 91DZ O

‘oN Auysibe;

S o o e (4008 X1) SNOLO3S SSO¥O | g SHCISAJY 0 TN =g
SBSES 4 '02UIDA ‘0£Z X08 .o.m\SN TWILAA % TINOZISOH Ar | 084 (£107) G3 W9 OL 3IVadn| £1/e/L [ 1 ]| 4| 2l S|t
‘ONI ‘SINVLINSNOD ONIQTINg \&J XIA3SSY_H0_Lavd | oir NOLVLON 73Nvd 0355303d|z1/s1/1] z |<|5| | 7], £ |8
IW | 310N NOILJO 13Nvd ¥00d A3d|gi/60/0] ¢ || Z ¢ 5i

6ovsy ON “3'd 400Q SSYT19438l4 SA1| 084 (020z) 03 W/ Ol 3ivddn|oz/iz/c | v || |&|&|e |,
IS "4 UOPUA] NYL=YWI3HL S47] 084 (£20z) 03 HI8 Ol 31vadn|cz/61/c| S |u|d|s|x|2 & | B
:Ag paodad Syuewnooq 110na0dd HEIHERE 3

EMB. (TYP.)

-

e
v
1-1/4" MIN.

’Ill
!

\5/ Shown w/ TX sub-buck
Outswing shown (Inswing similar)

(/3 \ HORIZONTAL CROSS SECTION

el &

INTERIOR
4
E.../

INTERIOR

1"\ VERTICAL CROSS SECTION
\5/ Shown w/ TXsub-buck
Qutswing shown (Inswing similar)

EXTERIOR

(s0ara2)

y/i

1X Buck to be secured to
masonry by others
EXTERIOR

INTERIOR
40)41)42

29

HORIZONTAL CROSS SECTION

Shown w/ TX sub-buck
Outswing shown (Inswing similar)

e =

<<

1-1/4" MIN,
EMB. (TYP.)

Bmp'g-1°19702-14\L9P0Z 14 N1LewIay 1\ni|-euuiay | \sbuimeiq D84 £202\:Z



Z:\2023 FBC Drawings\Therma-Tru\ThermaTru FL 20461\FL-20461.1-5.dwg

INTERIOR

(1" VERTICAL CROSS SECTION
W Shown Direct fo Masonry
QOutswing only w/ 4-9/16" jamb

INTERIOR

m VERTICAL CROSS SECTION

& / Shown Direct to Masonry

Qutswing only w/ 6-9/16" jamb
DIRECT TO MASONRY MAX. DESIGN PRESSURE:
w/ STANDARD STRIKE = + 55 PSF
w/ SECURITY STRIKE =+ 65 PSF

1 1
INTERIOR
L 40 141 (42 o
& [v. S 4 < N
INTERIOR
\|
. il EREOE ,\\ a
1-1/4" MIN. S IS \
EMB. (TYP.) 'lléa\\\\ \\Q
. ; LY
\‘\‘ EXTERIOR ,{I ..
EXTERIOR
1-1/4 MIN. 1-1/4" MIN.
EMB. (TYP.) EMB. (TYP.)

m HORIZONTAL CROSS SECTION

6

/3" HORIZONTAL CROSS SECTION

Shown Direct fo Masonry

Shown Direct to Masonry 5
Outswing only w/ 4-9/16" jamb

Shown Direct to Masonry
Outswing only w/ 4-9/16" jamb

< 5 }HORIZONTAL CROSS SECTION
Outswing only w/ 6-9/16" jamb

1.5" MAX.

a
425"

0
a
2
.
gm
z
z
B3
G L2
2y
z 9
sn
Zgw
390
9.9
S®
. 33
& O
38 ox2
3 2%
§fa Zo,
28 5%¢
859 3.5
£U% 35k
2w .
s o
s c2 §
538
Sui
8 K
8 o

FBPE Registry No. 8813

THERMA-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:
HORIZONTAL & VERTICAL
SECTIONS (DIRECT TO MASONRY)

PRODUCT:

FS
LFS
MT
JK

Ji
BY

7/7/17 |UPDATE TO 6th ED (2017) FBC

Q[
(NS
L=
e
Q=
N
IS
<
K|&
O
L[S}
S
=S
<.
S
I
=IES
NS
Q2
B
S
NS

7/19/23 |UPDATE TO 8TH ED. (2023) FBC

Z
8
2
=
(=}
=z
»
g
ES
a
a
2
a
Ly
Of
I
&
~
N
5
N

REVISIONS

"
3 =
o -
L4 of+[m|~[~[S
1-1/4" MIN. -

EMB. (TYP.) e 5/26/16

scAE N.T.S.

/6 "\ HORIZONTAL CROSS SECTION e =k
v Shown Direct to Masonry chk. 8. LFS

Outswing only w/ 6-9/16" jamb DRAWNG NO.

FL-20461.1

Seer 6 o 11

© 2016 R.W. BUILDING CONSULTANTS INC.



Z:\2023 FBC Drawings\Therma-Tru\ThermaTru FL 20461\FL-20461.1-5.dwg

Notes:
1.Sill ltem #'s 16, 32, 33, 36, 37, 38, 39, 43, 44, 45, 46, 47 & 48 are attached to jombs
w/ (3) #8 X 2-1/2" pfh screws or (3) 2.5" staples at each end.

2.Sill ltem #'s 17 & 18 are attached to jambs w/ (2) #8 X 2-1/2" pfh screws at each end.

3. Sill ltem #15is attached to jambs utilizing (2) #10 X 2" pph SMS screws at each end.

INTERIOR /‘}(

SEENOTE 1 /I

EXTERIOR

(®)

32) 3839

/ 1"\ VERTICAL CROSS SECTION

\U Inswing Sill

EXTERIOR }( INTERIOR
SEENOTE 1

("3 VERTICAL CROSS SECTION

\U Outswing Sil

EXTERIOR

(s0ae)

SEENOTE 1

INTERIOR

(s0aray

EXTERIOR

SEENOTE 1

(2 VERTICAL CROSS SECTION

\U Inswing Sill

/“Y INTERIOR
10
15
e e v :
> & AN
. S

("4 \ VERTICAL CROSS SECTION

\U Public Access Sil

0
@
B
)
s
z
EIN
)
oo
z3q
<3
S
ik
3se
L
Qo
« om
5. S8&.
s © o x2
5§ Ea 24
2 <o q H
£33 246
e V9 592
Y Bad
ER
$ 9
§ 2 S
S
£3°
§ sul
S 2

FBPE_Registry No. 9813

@
S
%3
S| 22
=8 8
Ea =]
| . CF
48 |5 oE
= 3 <=
[ RS
£2 |3 B2
=i |9 @8
a |2 5=
[T P S
o e
g g °
IS] &
© <
o o
0|0y
1
Rlo|w
Slofl o
Lol5| (@
,\LLZZLL
NREREN
S|SIGIE(=
NIRUEIZIR
NN
Al
aa o
[re] 1 N el S
gg (%]
A EEE S
||| F (5| |2
|
SN
S
RN
S|l
zig|aR(E
S|5|el&|s
RIRIRE N
NN NE
RIS N
NRISISNS
0| {m| |~
oATE: 5/26/16
SCALE:  N.T.S.
DwG. BY. JK
CHK. BY: LFS
DRAWING NO.:
FL-20461.1

SHEET _7 oF 11

D 2016 R.W. BUILDING CONSULTANTS INC.

)



"ON| SINVLINSNOD 9NIQTING "M'Y 9 102
€186 'ON A4sI03y 3d84 SNOISIAZY
L616°6G9°CL8 "ON 8uoyd A8 31va [ON] .« = |
S6SES 14 ‘O3UIPA ‘0T xog .o.u\xu ONIFOHONY 3Nved % %008 P | 984 (£10z) G3 W9 OL 3vadn| i/c/z [ 1 1|4 2 5 Mi
"ONI “SINVLINSNOD 9NIaTINg SAT8N3SSY HO Luvd | Mr NOLLYION 13NVd 03S$303d|/1/S1/1 1] z |o|= - L3 °
IW | 310N NOUO T3Nvd 8000 A3d[g1/60/0t] £ | |F S« 87
60vEy ON '3'd 4000 SSY1943614 S41|_084 (0202) 03 W Ol 31vadn|oz/1z/c | v || |5 |2 |
PILYOS “4 UOPUA] NYL—VYWYIHL S41| 084 (£20z) "d3 HI8 Ol 31vddn|sz/61/c] S |w |4 |a|«|3 & | B
:kg_peindesg_syuewnosog :10Nd0yd HEIHEHE 5
)
~ v
ES
P Fanl)
o E . dAL) ‘D0
RMP = J j:é 9 XYW 7L
g =
z ()
[}
a I I T I =2
Sl o
B ox
o v v =Z o
@ S 8 00 1 I
S S 3 88 g 4
s > 2 3 22 8 g ()
z : & x 0% %_ ’ =
- a "
‘ & <
| E@:E . »
3 & i
T L M
. 1 1 1 1 L I
: N &
S [ PR =
gz
a g
(dAl) D0
J j ('dAL) ¥ XYW.EL
R—+t F F —F 1 2
* 2 o
=
il < _ > o
o s < =
| =% > [a d
= . 3 = - S
N T [ . N
. g . <
v a »
" o . S
N Pt «Q
! 1 I I I 1 >
LT 41 s
. (dAL) 00
J j:é > Al|4¥ XYW 9L
- In, T T T ! 1 =
* 2 a
=
1 < > o
o 3 W << 1 x
= > [a d
% . ] = - Q
. & ...\rv . ANH
a »
o 4 ¥}
e J «Q
! } i i ! } >
3 S B 4
B - 5 i .
2 g _
5 2
2E
=

Bmp'g-1°19702-14\L9P0Z 14 N1LewIay 1\ni|-euuiay | \sbuimeiq D84 £202\:Z




Z:\2023 FBC Drawings\Therma-Tru\ThermaTru FL 20461\FL-20461.1-5.dwg

2XBUCK
A\
1XBUCK
DIRECTTO /ﬁ
MASONRY 1

W
2X BUCK —N
necx(e) | AR @

DIRECTTO
MASONRY -
LATCH & DEADBOLT DETAIL
Kwikset
2XBUCK (L
1XBUCK
¢ 8
DIRECTTO ( M
MASONRY SUB STRIKE
PLATE

8 1
68A

@ 22
2XBUCK
RIS clat)

MASONRY

\
LATCH & DEADBOLT DETAIL
Schlage

LATCH & DEADBOLT STRIKE DETAILS
(Standard Deadbolt Strike Plate)

: m
8
3
W ¥
12
B
SEE LATCH /\E -
& DEADBOLT
DETAIL
STRIKE JAMB

Latch and Deadbolt

\Y
DIRECTTO
MASONRY

DEADBOLT STRIKE DETAILS
(Security Deadbolt Strike Plate)

a
9]
=

s
oz
[
0
g
SEE HINGE =
DETAIL (TYP,)

11.125" FROM TOP
OF JAMB

BOOK DOOR

29.75" (TYP.)
1/HYBRID DOOR

29.25" (TYP.)

HINGE JAMB

#

HINGE DETAIL

SEETONGUE /"< 2
STRIKE DETAIL a 2X BUCK
(Tvp.) Py \
59 1X BUCK
I -
. DIRECTTO
MASONRY "
L
[ 1 TONGUE STRIKE DETAIL
/ ~ MuffipoinfTock
SEELATCH 4
& DEADBOLT i
DETAIL 5
. &
. 2X BUCK -
LL 1XBUCK B
DIRECTTO (‘M
STRIKE JAMB
Multipoint Lock MASONRY H @
\
2xBuck LATCH & DEADBOLT DETAIL
1X BUCK Mulfipoint Lock
DIRECTT
MASENR? MULTIPOINT LOCK STRIKE DETAILS

@

FL 33595

v
Z282
La
S Ep
S5ge
33¢@
g.f
3o
% om
iy O«
% o
3 o 0 xz
H 3
§ Eo Zam,
20 ao®¢
§63 3.5
e »» 59c¢
.¥ @Daa
£ w .
€ o
Pef =
S
£3
g Su
S 2o

FBPE_Registry No. 9.

o %)
>8 S
2| g
5 |
S22 |4l #
R e e
e |3 2
IE | §
S bt
o ol &

A S

5 o

2 o

o &

© <

o |
010 |x|x|>
EEEERE
Qo
O 1S
Bml5| |@

[ 1=
Y
NMREEN
S|8ISIE|=
8IQIE=Q
SRS (o
1= P B P =<

O
b ] Y ]
Elslz2ls| B
£ sl 5
HISERE R
|
99%59
ww(QD|w
gz @<
S[5]>(8|8
EIE[@IQE
S|S|x|E|S
9IRS

NN
2151812 1N
NR[SERE
o< [m|| (2]

oate: 5/26/16

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—20461.1

sHEET 9 oF 11

O 2016 R.W. BUILDING CONSULTANTS INC.




Z:\2023 FBC Drawings\Therma-Tru\ThermaTru FL 20461\FL-20461.1-5.dwg

! 4.56" !

(::> INSWING THRESHOLD
Inswing Basic Fixed Sill

tv‘* 5.63"

! 575" 1

. INSWING THRESHOLD
Inswing Basic Fixed 5-3/4" Sill

"r ! 4.56" ! ! 5.83"

<i:> INSWING THRESHOLD
Inswing Basic Fixed 7-1/2" Sill

= 60"

L

|
-

. INSWING THRESHOLD
Inswing Composite Adjustable Sill

| s |

! 4.56" !

. INSWING THRESHOLD
Inswing Composite Adjustable Sill

Book, Hybrid

. INSWING THRESHOLD
Inswing Composite Adjustable Sill
Ul

(: :> OUTSWING THRESHOLD . OUTSWING THRESHOLD
Composite / Aluminum Sill Composite / Aluminum Sill

781" 1

<::> INSWING THRESHOLD
Inswing Composite Adjustable 7-3/4" Sill

1.01"

0.082"

(: :> PUBLIC ACCESS THRESHOLD

575" !

. OUTSWING THRESHOLD
Composite / Aluminum Sill

(Thermal Break)

0.5"

! 5.83" 1

. INSWING THRESHOLD
Inswing Composite Adjustable Sill

Book, Hybrid

. INSWING THRESHOLD
Inswing Composite Adjustable Sill
u1

7.63"

. INSWING THRESHOLD
Inswing Composite Adjustable Sill

Book, Hybrid

7.63"

. INSWING THRESHOLD
Inswing Composite Adjustable Sill
ul

0
o
0
]
"
Z N
)
2sox
ZLg@
LEn .
Sseg
5>452
2.2
I°)
5 R
o owN @
B 2 g 528
4 z
o Z
g8 5%,
L 3% Zg0a
e 9 502
¥ Baogll
£ w .
€ .3
§ c2
80
g su
S 2o
S
28| ¢
Toly ©
o .
% bal g
=9 | <
3 1= =
e |8 3
= o
a |2
g~ s
B S|
3 &
4 <
a a|
0l [x x>
ENEREE
Rlofw
I8 |
Lal5] (@
’\lzzl
NEEEN
S|NISIE(S
NSRS
SNE Y (o
]
Slalelal B
dlg| o= 9
z|y 0
Zs|Z12ls| B
=|N[EE6 @
|
elefzlole
s}
lS| R
S|5|>[8|8
Q|a|w|mia
S|S|e|x|S
RISIRIE [~
NN
RNERNE
NRISISRN P
w|+|m |- |2
oaTE: 5/26/16
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—20461.1

sHEET 10 oF 11

© 2016 R.W. BUILDING CONSULTANTS INC.



Z:\2023 FBC Drawings\Therma-Tru\ThermaTru FL 20461\FL-20461.1-5.dwg

Documents Prepored By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

813.659.9197

P.0. Box 230, Valrico, FL 33595
FBPE_Registry No. 9813

BUILDING CONSULTANTS, INC.

Phone No.:

BILL OF MATERIALS BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL ITEM # DESCRIPTION MATERIAL

A 1XBUCK (SG >=0.42) WOOD 26 #8 x 5/8" PFH WOOD SCREW STEEL

B 2X BUCK (SG >=0.42) WOOD 27 LATCH STRIKE PLATE STEEL

C 1/4" MAX. SHIM SPACE - 28 DEADBOLT STRIKE PLATE (STANDARD) STEEL

D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL 28A | DEADBOLT SUB STRIKE PLATE STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE 288 | DEADBOLT STRIKE PLATE (SECURITY) STEEL

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 29 4" X 4"HINGE STEEL

G 3/16" X 3-1/4"ITW CONCRETE SCREW STEEL 30 LATCH & DEADBOLT STRIKE PLATE (TONGUE SYSTEM) ALUM/COMP
J 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL 31 MULTIPOINT STRIKE PLATE (TONGUE SYSTEM) ALUM/COMP
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL 32 INSWING THRESHOLD ALUM/COMP
M 3/16" X 2-1/4" ITW CONCRETE SCREW STEEL 33 INSWING THRESHOLD ALUM/COMP
N 3/16" X 2-3/4" ITW CONCRETE SCREW STEEL 36 INSWING THRESHOLD ALUM/COMP
1 JAMB (FINGER JOINT PINE ) WOOD 37 INSWING THRESHOLD ALUM/COMP
6 WEATHERSTRIP (MEDIUM REACH) FOAM 38 INSWING THRESHOLD ALUM/COMP
7 WEATHERSTRIP (LONG REACH) FOAM 39 INSWING THRESHOLD ALUM/COMP
8 SWEEP VINYL 40 DOOR PANEL (BOOK) -

9 SWEEP (USE w/ INSWING BASIC FIXED SILL VINYL 41 DOOR PANEL (HYBRID) -

10 SWEEP (USE w/ PUBLIC ACCESS THRESHOLD) VINYL 42 DOOR PANEL (UT) -

15 PUBLIC ACCESS THRESHOLD ALUM 43 INSWING THRESHOLD ALUM/COMP
16 OUTSWING THRESHOLD ALUM/COMP 44 INSWING THRESHOLD ALUM/COMP
17 OUTSWING THRESHOLD ALUM/COMP 45 INSWING THRESHOLD ALUM/COMP
18 OUTSWING THRESHOLD ALUM/COMP 46 INSWING THRESHOLD ALUM/COMP
22 #8 x 3/4" PFH WOOD SCREW STEEL 47 INSWING THRESHOLD ALUM/COMP
23 #10x 3/4' PFH WOOD SCREW STEEL 48 INSWING THRESHOLD ALUM/COMP
24 #10 x 1" PFH WOOD SCREW STEEL
25 #8 x 2-1/2" PFH WOOD SCREW STEEL

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

MIN.__ | MIN. CLEARANCE | MIN CLEARANCE
A'ﬁff“ A”SCI;OR EMBEDMENT | - TOMASONRY. | TO ADJACENT
EDGE ANCHOR
e 14

1APCON® 1-1/4 2" e
DeWALT . - - -
utiRACON?| /4 1-1/4 1 4

™w . - -

apcon® | 16 1-1/4 AS SHOWN 14172

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

Loy /il
i

o
S . SWEEP SWEEP

‘ 4.56" ‘

=

l‘f 236" 44
< : ) WOOD JAMB

1
L 206" Aji.[
:

0.75"

w)
S <3
=1s] 3
=2 ©oE
= S
%) ;uf:(
2 |5 ==
=3 o S
wo |3 &8
Fe |8 =
(Sl SR
Q < O
55l ®
3 S|
S &
'3 <
o a
ol
SN
Qlo|w
ool |o
c|alg| |@
,\LLZZLL
NREEN
RIEEN
NNRES
TS81g[ |2
glal[Fal 18
wla|g| o=l 1©
o (2]
Eislz2lg| =
o|K|a(F|6| |5
[i4
olefzlole
s}
HRIG
[s]{=]pN (s
u&ﬁfﬁu
o|2|x|e|DS
2IQIRE N
NN
RNSRNE
SNEENG
w|+[n|x]~I2
oate: 5/26/16
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-20461.1

SHEET 11 oF 11

2016 R.W. BUILDING CONSULTANTS ING.

@)



